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[t =@ R]
@)1= @siiE CEFHEOAFBELT LD HD @%%E ORFRARBEFEFE
FRR30FEEFEE 91.5% 161 0 180 4
SHTEEREFEE 91.4% 148 0 164 2
SH2EERRELE 86.7% 111 0 137 9
SH3EEREE 91.4% 128 0 143 3
SIHAEEREE 94.9% 131 0 140 2
XOptE=( (@] + [®])/([®] - [G] + [3®] )
[DIERSR] XTEH29EE, 0EEEES BRLEFROER
ORtBE X @#tiE QEFEONHBLT LD LD @xEHE OKRF IR TR FESE
FRR30F AR EE A X 93.2% 41 0 49 5
SHTEEREE 75.3% 67 0 93 4
SH2EEREE 68.4% 50 0 80 7
SHEERRELE 71.6% 58 0 83 2
SHAFERRELE 84.9% 73 0 90 4
XO#EE=( @] + @1 )/([@] - T®] + [®])
[feRERi A
ORtBRE X QA QEFEOAFBELT LD HD (Or==<5 ORF AR EFESE
FRR30FEEREE 95.0% 76 0 82 2
SHTEEREFEE 93.0% 66 0 71 0
SH2EERREE 91.0% 71 0 78 0
SH3EEREE 98.2% 55 0 56 0
SHAEEREE 98.5% 65 0 69 3
XOst#=E=( (@] + 131 )/([@] - T®] + [®] )
[EtREFR]
OFBRE X Q#BE QEFEONFRBLTLDHD @=%H OARFERHARREETH
FRRI0FEREE 100.0% 76 0 76 0
SMTEERREE 100.0% 72 0 72 0
SH2EEREE 100.0% 70 0 71 1
SH3EEREE 100.0% 67 0 67 0
SIHAEEREE 100.0% 55 0 55 0
XOpEE=([@] + 1®1)/([®] - [®] + [®])
[UrEYF—2 3 v58]
OB QA QEFEOAFBLTLEHD ®rxE ORF AR EFESH
FRR0FERZEE 89.7% 113 0 126 0
SHTEEREE 93.1% 95 0 102 0
SH2EEREE 84.3% 119 0 141 0
SHBEEREE 82.8% 106 0 128 0
SHMAEEREE 84.5% 120 0 143 1
XO#EE=( (@] + @1 )/([@] - T®] + [®] )
[#EFR]
@73 =3 @shigiE QEFHEOAFBLTLEHD @k OXRF AR EEFH
SHTEEREE 93.0% 66 0 72 1
SH2EERFEE 94.2% 65 0 71 2
SHBEEREE 93.1% 54 0 59 1
SHAEEREE 92.8% 64 0 73 4

XO#HE=( @] + 1301 )/([®) - @] + @] )




